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QUESTION 1

A system with its Ethernet port configured for full-duplex operation has what advantage over one running at half-
duplex? 

A. The system\\'s CPU processes fewer interrupts. 

B. It provides more reliable transmission. 

C. It has double the throughput capacity. 

D. It has double the transmission speed. 

Correct Answer: C 

 

QUESTION 2

A new system is being installed with multiple interfaces configured and IP Forwarding enabled. One interface, ge0,
connects to the primary company LAN. Another interface, ge1, connects to a LAN dedicated to administration of the
company\\'s servers. 

Given: ge0 IP Address = 10.0.0.25/32 ge1 IP Address = 192.168.1.25/32 Admin network = 192.168.1.0/24 Primary
network = 10.0.0.0/24 

Solaris IP Filter firewall must be configured in a way that: 

1- Systems on the admin network can reach the primary network. 2- The system itself has to be reached using ssh from
all systems on the admin network. 3- Systems on the primary network cannot reach any systems on the admin network. 

Which three rules should be included in the Solaris IP Filter configuration? (Choose three.) 

A. pass out quick log from 192.168.1.0/24 to any keep state 

B. block out quick log on ge0 from 192.168.1.0/24 to any 

C. pass out quick on ge0 from 10.0.0.25 to 10.0.0.0/24 flags keep state 

D. block out all 

E. pass in quick proto tcp on ge1 from 192.168.1.0/24 to 192.168.1.25/32 port = 22 flags keep state 

F. pass in quick from 192.168.1.0/24 to 10.0.0.0/24 flags keep state 

G. block in all 

Correct Answer: EFG 

 

QUESTION 3

Following a reboot of a Solaris system, in.routed is not starting automatically as required. Execution of svcs -l
svc:/network/initial reports enabled and online. Which two are possible causes? (Choose two.) 
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A. /etc/defaultrouter contains an IP address. 

B. /etc/gateways file is missing. 

C. svc:/network/interfaces is disabled. 

D. IPv4-routing is disabled. 

Correct Answer: AD 

 

QUESTION 4

Place each term on its corresponding layer of the model. 

Select and Place: 

Correct Answer:  

 

QUESTION 5
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Due to a restructuring of your organization, your company is divided into four separate groups. Your network is to be
organized into four separate subnetworks, but you only have a single Class C address range. Which file, on every host,
on each subnetwork, needs to be modified so that you can implement an appropriate subnetworking strategy? 

A. /etc/netgroup 

B. /etc/inet/hostname.hme0 

C. /etc/defaultrouter 

D. /etc/inet/netmasks 

E. /etc/netmask 

Correct Answer: D 
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